cmMmo-0o0f E3 - 9i::f 35MPa Bz

Clamp cylinder

*EHI #zpE 35MPa

model c M c model c M D

2

O

HEXRE frs KR B
model CMC model CMD

XF CAD XU THERHER, & RMBH-FRTT www.pascaleng.co.jp 429




cMCcI-000d R TR 35MPa EzhHE
)
EE
| Bws
a2
(ox|
¥
(ox|
¥
(ox|
o3
(ou|
o3
(ox|
i
E
§ AEINERY B R L EE.
= FESAL, FIBHIEE A AR T 5] AR A A
EHEEHG LB, AR IR, S i
CcMC
M 1%
TR CMCO1 CMCO3 CMC04 CMC06
1T = mm 5 10 15 5 10 15 5 10 15 20 5 10 15 20
HE A3.5MPakt 0.2 0.4 0.5 0.8
HEIBET) | s sh7MPafy 03 0.8 1.0 1.7
KN A E A 25MPakt 1.2 2.8 3.8 6.3
JHE A35MPaft 1.7 3.9 5.3 8.8
JHELRE NIt E AT *2 F=0.050XP-0.016 | F=0.113XP-0.035 F=0.154 X P-0.049 F=0.255XP-0.081
EFFE mm 8 12 14 18
JHELE AR cm? 0.50 1.13 1.54 2.55
BRARE L/min 0.15 0.34 0.46 0.76
HIIAE cm? 0.3 0.5 0.8 0.6 1.1 1.7 0.8 1.5 2.3 3.1 1.3 2.5 3.8 5.1
[B] (i 38 & 1 *3 N 13~19 28~42 38~59 62~100
R =2 kg 1 0.05  0.06  0.08 | 0.07 | 0.10 | 0.13 | 0.09 | 0.12 | 0.15 | 0.20 | 0.16 | 0.21 A 0.26 | 0.32
AR S ZEAS N-m 10 30 40 60
JHESE MPa 1~35
ARIET & MPa 52.5
1 AR EIRE °C 0~70
LEDEEDITRLN LBy YHEREHR (HHHFISO-VG32)

X1 OBREIREN TR RAETERRAERNE,

%2 F=)HELAE

(kN)«

P=JHIE (MPa)

X3 O E N FRTEE TR~ EFHREIE,

430




cMcCclI-000 X LES 35MPa EzhHl
HERT
KA e EFTRETAR BB H R
01 5 10 15
03 5 10 15
04 5 10 15 20
06 5 |10]15]20 Fioe :MELLA (FR/ER)  ®iz=  NBR-90 (#RHEH)
CMC 10 — 5 10 15 25
20 10 15 20 32 R* - BRE BVEE : FKM-90
(CMC10+ 20+ 40. 60B&5h)
25 12 20 32
40 16 25 40
60 16]25|40 % 1:CMC04/06/10/20/25/40/60 43T £ 4 = .
2 A IEKAVIEIRE M, FHEAMBRME (Max.150°C), RATH
B
I miTsarg.
! 1%
# 5 cMC10 CMC20 CcMC25 CMC40 CMC60
7 o’ mm | 5 10 15 25 10 15 20 32 12 20 32 16 25 40 16 | 25 40
E 593 5MPaft 13 2.6 3.1 5.1 75
HELEET | 5 997MPant 2.6 5.4 6.6 10.6 15.8
o | EEA25MPant 9.7 19.8 244 393 58.6
S#E 935 MPaft 13.7 27.9 34.3 55.2 82.4

HALRE NI AR, 2

F=0.394XP-0.129

F=0.804XP-0.255

F=0.990xP-0.323

F=1.590XP-0.485

F=2.376XP-0.790

Fiz mm 22.4 32 35.5 45 55

JHELE R cm? 3.94 8.04 9.90 15.90 23.76
RARE L/min 1.18 2.41 2.97 4.77 7.13
MRS cm® 1 2.0 139 59|99 80 120/ 16.0/20.1/11.9/19.8 31.7 254 39.8|63.6 38.0 59.495.0
Bl {55 & ) #3 N 97~160 200~310 240~405 370~600 570~1010
R B kg [0.24 0.30/0.35 0.60 0.63/0.780.91/1.38/0.811.02/1.36 145 1.8 |2.46 259|3.23 43
FEHEE R E IR N-m 110 270 360 620 1160
HESEE MPa 1~35

ARAET MPa 52.5

B RIMRIRE C 0~70

& i LBy EERER (H=TISO-VG32)

X1 OREIRENRTEITRFRAEMAIE,

%2 F=MEIBE ST (KN)«

P=JHIE (MPa)

X3 O E N FRTEE TR~ EFHREIE,

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

Ei b e

CMC

431



cCMCO-O00O00O X LEH 35MPa Ezh#E
SR E
M1 oA
o
=l =
oB
o T
Eitd N 1
= - |
3 - [T X
% : : (I /17
guM2 = .
()
cMC }% -
O B oC
g} BRA
mm
#H = CcMCO1 CcMCo03 CMCo04 CMCo06
7 R 5 10 15 5 10 | 15 5 10 15 | 20 5 010 15 | 20
oA 15.5 24 26 33
0B 8 12 14 18
oC 143 203 233 28.3
D1 31 |41 50 31 |41 | 515 36 | 47 | 58 | 68 | 405 515 625 725
D2 27 |37 |46 | 27 |37 |475] 31 | 42 | 53 | 63 | 34 | 45 | 56 | 66
ET 5.5 7 8.5 10
E2 15 3.5 35
F 6 8 9 10.5
G 19.5 | 205 | 385 | 16 | 26 | 365 | 185| 295 405 505 20 | 31 | 42 | 52
H (A B0 %) 14 22 24 30
J1 (B E) 7 10 12 14
02 7.5 1 13 17
K () 45 5.5 6.5 7.5
L 16 20 25 32
M1 M5 X 0.8 $R8 M6X 1 &6 M6X1 11 M8X1.25 13
M2 M16X1.5 M22X1.5 M25X1.5 M30X 1.5
oN 14.5 20.5 23.5 28.5
p 12 13 14 15
R 19 | 29 |38 | 155|255 36 | 18 | 29 | 40 | 50 | 195| 305 415 515
05 5 8 10 14
T 7 7 7 7
u 6 6 6 6
oORE AS568-012 AS568-015 AS568-016 AS568-019

432




cCMCO-O00O00O X LEH 35MPa Ezh#E
SMERTHE
REALMIE
BRAD e X 2 A0 E NI AE Z AHRC54,
1251 M2
om— TR, S0 AE T R TSON D, B RN
— B}, REBIFE. BOEEIAEMREST, FABEFERNEEHE
i N#ATEE.
21
s | R £ g R, BaEEMROE S RAMER (E0E). EE-Es
| 1] #3436, 437T.
s ERE, EERIEEE LR MEOAFREENA 0. EUEEH
P TEER
model CMC[]
ELREMBHLEN, THREBHENE—raiE, IREEANEBE
SEEE 4% EEBEREENETARS, TUNESHS, EALFRE NHITE
modelCSPD—F\A .
T hh
=
RS
model CMH[I-C
mm
#H = CMC10 CMC20 CcMC25 CcMC40 CMC60
7 R 510 15 25 10 | 15 20 |32 12 |20 32 |16 |25 40 16 25 | 40
oA 40 50 55 66 80
0B 22.4 32 35.5 45 55
oC 343 46 52.6 62.6 77.6
D1 445 545 665 875 67.5 80.5 92 1185 67 | 8151045 79 | 94 122 | 89 |107 138
D2 36.5 46.5 585 79.5 57 | 70 | 815108 | 56 | 70.5| 93.5 65 | 80 108 | 76 | 94 125
E1 12 16 17.5 215 20
E2 4 55 6.5 7.5 7
F 12.5 14 15 17 15
G 20 30 | 42 | 63 | 37.5 50.5 62 | 885 345 49 | 72 | 405| 555 835 54 | 72 101
H (ABHBE) 36 46 50 60 75
J1 (D) 19 27 30 36 41
02 21.4 30 325 43 52
K (075 ) 9.5 12.5 135 15.5 17
L 40 50 60 70 80
M1 M8X1.25 13 M12X1.75 &18 M12X1.75 %18 | MI16X2.0 %18 = M20X2.5 22
M2 M36X 1.5 M48x 1.5 M55 % 2.0 M65 X 2.0 M80X 2.0
oN 34.5 46.5 53 63 78
p 17 20 24 27 29
R 19.5 29.5 41.5 625 37 | 50 | 61.5 88 | 335 48 | 71 | 40 | 55 | 83 | 53.5| 71.5/100.5
05 19 26 34 44 56
T 7 7 10 10 10
U 6 6 9 9 9
O AS568-022 AS568-126 AS568-129 AS568-135 AS568-143

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

Ei b e

CMC

433



